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QUESTION 1

Which of the following items are capable of having nhames that are over 30 characters in length? (Choose 3)
A. constraint name

B. user name

C. table name

D. cursor name

E. default name

Correct Answer: ACE

QUESTION 2

Which of the following are true about lock promotion? (Choose 3)

A. If other tasks hold locks conflicting with the type of table lock needed, lock escalationoccurs.

B. If other tasks hold locks conflicting with the type of table lock needed, lock escalationdoes not occur.
C. Page locks can be promoted to intent locks.

D. Page locks can be promoted to table locks.

E. Row locks can be promoted to page locks.

F. Rowlocks can be promoted to table locks.X

Correct Answer:. BDF

QUESTION 3

Which command is used to display the current server EBF level?
A. select * fromsyslogshold

B. select @ @servername

C. select * fromsysservers

D. select @ @version

Correct Answer: D

QUESTION 4
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What can be used to examine partition skews? (Choose 2)
A. sp_helpdb

B. sp_helpartition

C. sp_help

D. optdiag

E. reorg

Correct Answer: BC

QUESTION 5

Executing the commands below will result in which of the following? sp_addsegmentseg_datal, MINE, mydiskl
sp_addsegment seg_index1, MINE, mydisk2create table authors (au_id) on seg_datal create clustered index au_idx on
authors(au_id)

A. table authors and indexau_idx on seg_datal

B. table authors and indexau_idx on default segment

C. table authors on seg_datal and indexau_idx on default segment

D. table authors on seg_datal and indexau_idx on seg_index1X

Correct Answer: B
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